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A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

It = (—u** +2u® + 4 20+ 1, u'? — 5u® — 20 4+ 9u® + 8u” — 4u’ — 10u® — 6ut + 2u® + 5u + a4+ 2u + 1,
P —3utt 4 ut)
= —b+1,a+1, u+1)

* 2 irreducible components of dim¢ = 0, with total 37 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-

fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).
2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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I.
It = (—ud*42u33 4. - +2b+1, u'?—5u'®+..-+a+1, u¥—3ud*+...fu+1)

(i) Arc colorings

o ()

ag =
az =
a7 =

aq = (
—u'? +5ut0 .. —2u —1

ag = u34—u33+~.+u—%
—%u34+u33+-~-—u+%
St 4 duB 4 2u+ 3
=203 + 3u® + - 4 6u+ 1
%u34—6u33—|—~~—3u—§
—u® 4+ 2u® —u

as = \u" —3u® +2u +u
—3utt +5uP 4+ +u+3

a0 = \=Su3* +4u3d 4.+ 2u+ 3

a1 =

ag =

(ii) Obstruction class = —1

(iii) Cusp Shapes

= —7u?* 4+ 733 + 100132 — 676! — 665030 + 193u?” + 265618 + 332127 — 6763020 —
4013u?® 4+ 1033402 + 13042u23 — 5838u?2 — 2200612 — 10452u2° + 17336u'° +
25367u'8 +3521u'” — 19332010 — 18920u'® — 1888u™ + 11508u'® 4+ 110342 4 2874u!! —
3024ut0 — 415202 — 2538u® — 542u” + 450u® + 658u® + 514u* + 230u3 + 79u? + 25u + 8



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs P ot 21
C2,C3,Cg WP 3t +u—1
C4,Co w4 —8u—4
Cs u® — 1503 + - — T2u 4 16
c7,C10 w1203+ 4w — 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, 08 PP 1203 by — 1
C2, C3, Co Y3 =31y 1Ty — 1
c4, Co Y3 153 - — T2y — 16
5 y*® + 7y*t + - — 2016y — 256
¢7,¢10 Y20 4+ 249 o 40y — 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.827242 4 0.5107771
a = —1.257960 — 0.3179281
b= 0.711723 — 0.7747421

3.61521 — 1.865081

8.01949 4 2.704141

u = —0.827242 — 0.5107771
a = —1.257960 + 0.3179281
b= 0.711723 + 0.7747421

3.61521 + 1.865081

8.01949 — 2.704141

u = —0.943343 4 0.5010991
a = —0.582372 — 0.1495071
b= 0.684104 + 0.9421141

3.09693 + 3.495351

6.37889 — 3.750141

u = —0.943343 — 0.5010991
a = —0.582372 + 0.1495071
b= 0.684104 — 0.9421141

3.09693 — 3.495351

6.37889 + 3.750141

u = —0.253334 4 0.8395141
a=—1.18782 — 1.131831
b= 0.696750 — 1.0055401

0.97304 — 8.247421

2.56945 + 7.599161

u = —0.253334 — 0.8395141
a=—1.18782+ 1.131831
b= 0.696750 + 1.0055401

0.97304 + 8.247421

2.56945 — 7.599161

u=—1.15725
a = —1.05692
b= 0.346138

2.21114

4.02480

= —0.295449 + 0.7845981
—0.058917 — 0.2304881
0.766564 + 0.6733271

1.97084 — 2.688741

4.58889 + 2.896221

—0.295449 — 0.7845981
—0.058917 4 0.2304881
0.766564 — 0.6733271

1.97084 + 2.688741

4.58889 — 2.896221

—1.164960 +- 0.2888711
—1.174190 — 0.5283231

U
a
b
U
a
b
U
a=
b= 0.051770 — 0.9551641

—0.612022 — 1.1677101

—0.594633 +- 0.4824221




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= —1.164960 — 0.2888711
= —1.174190 + 0.5283231
0.051770 + 0.9551641

—0.612022 4+ 1.1677101

—0.594633 — 0.4824221

—0.098834 + 0.7251301
= —0.03188 4 1.736451
—0.071862 + 1.0386101

—3.83291 — 2.535881

—3.84686 + 3.833261

—0.098834 — 0.7251301
—0.03188 — 1.736451
= —0.071862 — 1.0386101

—3.83291 + 2.535881

—3.84686 — 3.833261

= 1.275860 + 0.1526361
= 0.756171 + 0.1317791
= —0.493777 + 1.0547501

2.76473 — 0.811261

6.02594 + 0.1

= 1.275860 — 0.1526361
0.756171 — 0.1317791
= —0.493777 — 1.0547501

2.76473 + 0.811261

6.02594 + 0.1

—1.343360 + 0.1755471
1.08136 + 1.667841
—0.750068 — 0.7253961

4.76978 — 0.623791

6.88558 + 0.1

= —1.343360 — 0.1755471
= 1.08136 — 1.667841
= —0.750068 + 0.725396.1

4.76978 + 0.623791

6.88558 + 0.1

= 1.328700 + 0.2907721
= 0.892510 — 0.5216721
= —0.144398 — 1.1125001

0.65547 + 6.201081

1.95124 — 5.891771

= 1.328700 — 0.2907721
= 0.892510 + 0.5216721
= —0.144398 + 1.1125001

0.65547 — 6.201081

1.95124 + 5.891771

= —1.349650 + 0.2317901
= 2.67880 — 0.005171
= —0.701280 + 0.9762651

4.00753 — 6.153181

5.27676 + 5.006921




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = —1.349650 — 0.2317901
a= 2.67880+0.005171
b= —0.701280 — 0.9762651

4.00753 + 6.153181

5.27676 — 5.006921

u = 1.360060 + 0.1981691
a= 0.993954 — 0.0736551
b= —0.734023 — 0.2416741

5.16768 + 3.599081

8.99233 — 3.968471

u= 1360060 — 0.1981691
a= 0.993954 + 0.0736551
b= —0.734023 + 0.2416741

5.16768 — 3.599081

8.99233 + 3.968471

u = 0.130391 + 0.5669311
a= 1.74005 — 1.547481
b= —0.611964 — 0.9681001

—0.69789 + 3.198451

—1.06265 — 3.084891

u= 0.130391 — 0.5669311
a = 1.74005 + 1.547481
b= —0.611964 + 0.9681001

—0.69789 — 3.198451

—1.06265 + 3.084891

u= 142263+ 0.311471

a = —0.746326 + 1.1549901 7.44255 + 6.650191 0

b= 0.845304 — 0.6584111

u= 142263 —0.311471

a = —0.746326 — 1.1549901 7.44255 — 6.650191 0

b= 0.845304 + 0.6584111

u= 141674+ 0.342791

a = —2.20298 4 0.346641 6.28512 + 12.510901 0. —8.160351
b= 0.724315 + 1.0380401

u= 141674 —0.342791

a = —2.20298 — 0.346641 6.28512 — 12.510907 0.+ 8.160351
b= 10.724315 — 1.0380401

u= 149697+ 0.022631

a = —1.77693 — 0.785131 11.46670 + 3.011201 0

b= 0.807430 + 0.8804451




Solutions to I* Vv—1(vol +/—1CS) Cusp shape
= 1.49697 — 0.022631
= —1.77693 + 0.785131 11.46670 — 3.011201 0

0.807430 — 0.8804451

—0.223261 + 0.4251211
= —0.321375 + 0.1941371
—0.417087 4 0.3083311

0.236326 — 1.1546301

3.51275 4 5.514261

= —0.223261 — 0.4251211

—0.417087 — 0.3083311

0.236326 + 1.1546307

3.51275 — 5.514261

0.146719 + 0.3181621
—0.77364 — 1.200621
—0.536572 4 0.7423171

0.11091 — 1.469961

—0.94917 + 3.341181

0.146719 — 0.3181621
= —0.77364 4 1.200621

U
a
b
U
a
b
U
a = —0.321375 — 0.1941371
b
U
a
b
U
a
b= —0.536572 — 0.7423171

0.11091 + 1.469961

—0.94917 — 3.341181




IL I = —-b+1,a+1, ut+1)

(i) Arc colorings

= (o)

e ()
e (1)
= (3)
e ()
- (3)
. (—bb_+11>
w= ()
e (%)
wo=(,"1)

(ii) Obstruction class =1

(iii) Cusp Shapes = —4b+5



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7,C10 w—u+1
2
C2,C3 (u + 1)
2
C4, Cs5,C9 (%
€6 (u—1)2
Cs wHu+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
61767368 y2+y+1
€10
2
C2,C3,Cq (y_l)
C4,C5,C9 y?
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—=1C8S) Cusp shape
u = —1.00000
a = —1.00000 1.64493 + 2.029881 3.00000 — 3.464101
b= 0.500000 + 0.8660251
u = —1.00000
a = —1.00000 1.64493 — 2.029881 3.00000 + 3.464101

b= 0.500000 — 0.8660251
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
‘1 (u? —u+ 1) (u®® + 203 + - —2u% 1)
ca,C3 (w4 1)) (W +3u® + -+ u—1)
Cy4, Cy w?(u 4wt 4 — 8u — 4)
Cs u?(u® — 1503 4 - — 72u + 16)
6 (u—1)) W 4+3u3* +-- 4 u—1)
7, Cio (u? —u+ 1) (u® 4+ 1203 + -+ 4u — 1)
8 (u? +u+ 1) + 203+ —2u% 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,cs G +y+ D)@ +120% 4+ 4y — 1)
Ca, €3, Co (y—DH(y*® =31y + - — 1Ty — 1)
Cy4, Cy (3 + 15934 + - — T2y — 16)
Cs (3 + Tyt + - — 2016y — 256)
¢7, 10 (v +y+ 1% + 249> + - + 40y — 1)
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